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QUESTION 1

Universal Containers has an Apex trigger on Account that creates an Account Plan record when an Account is marked
as a Customer. Recently a workflow rule was added so that whenever an Account is marked as a Customer, a
\\'Customer

Since\\' date field is updated with today\\'s date.

Since the addition of the workflow rule, two Account Plan records are created whenever the Account is marked as a
Customer.

What might cause this to happen?

A. The workflow rule is configured to evaluate when a record is created and every time it is edited.
B. The workflow rule field update is marked as \\'Re-evaluate Workflow Rules After Field Change."
C. The Apex trigger does not use a static variable to ensure it only fires once.

D. The Apex trigger is not bulk safe and calls insert inside of a for loop.

Correct Answer: B

QUESTION 2

REST uses

A. The HTTP class

B. The HTTPRequest class
C. The HTTPResponse class
D. All of the above

Correct Answer: D

QUESTION 3

A developer gets an error saying \\'Maximum Trigger Depth Exceeded.\\' What is a possible reason to get this error
message?

A. The SOQL governor limits are being hit.

B. A Process Builder is running that sends mass emails.

C. Trigger is recursively invoked more than 16 times.

D. There are numerous DML operations in the trigger logic.

Correct Answer: C
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QUESTION 4

Consider the following code snippet:

EttpPequast reg = mew HicpReguestil:
rag.awtEndpoint
reg.sacMathod (

Elch hemaderValiue = Elob.valusOL('myUserNama® =+ "'

Btring authorizationHeader = "BASIC ' + EncodingUnil.d

rej.mwmtHeader ("Authorization', amhorizationdasader) ;

HTttp http = naw HTtpl):

HITFFesponam ©es = Ritp.send(reqgl:

("bitps://TestEndpcint .. sxanple. con/ scne_gath' s

igFaggward’ )1

arcdeiheadeevValual

Which two steps should the developer take to add flexibility to change the endpolnt and credentials without needing to

modify code? Choose 2 answers

A. Create a Named Credential, endPoint_NC, to store the endpoint and credentials.

B. Store the URL of the endpoint in a custom Label named endPointURL.
C. Use req.setEndpoint(,callcut:endPoint_NC,); within the callout request.
D. Use req.setEndpoint(Label.endPointURL);.

Correct Answer: AC

QUESTION 5

What is the transaction limit on the max timeout for all callouts?
A. 120 seconds

B. 60 seconds

C. 120 seconds (synchronous); 200 seconds (async)

D. 60 seconds (synchronous); 200 seconds (async

E. There is no limit

Correct Answer: A
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